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1ERERX 768 113 1, 481 264 257 521 34.38 36. 04 35.18
L] 2 BEX 1,704 1,661 3, 365 552 533 , 085 32.39 32.09 32.24
EIFERX 297 298 595 108 92 200 36. 36 30. 87 33. 61
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6 ZERX 1,120 1,143 2,263 490 511 , 001 43.75 44. 71 44.23
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1 BERX 200 201 401 63 54 117 1 2 3
2KRERX 389 366 7155 159 164 323 4 3 7
3 BERX 93 A 164 14 19 33 1 2 3
4IRER 569 546 1,115 181 201 382 6 4 10
E) 5 BERX 419 458 871 160 159 319 2 8 10
FORER 392 404 796 96 104 200 2 3 5
F7HRERX 234 242 476 85 100 185 4 7 11
F8RERX 81 74 155 24 24 48 1 0 1
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